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2.4
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2.7
2.5
DIAX SX10 2.8
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S50C 10mm
NC
MS20
VF
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No379 2.1
2.1
E 379
Vo 12
1P
OFF 1
SA 3
SB 10 9 11
WS 12
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PT 14
LQ 2
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2.6

2.6.1
90°
2.10
S50C 10
6mm min 90°
90°
11 0.032
12 0.130
mm
2.10 90°
2.6.2
1
1
2
2.11 90°
4
0.6mm
2.11
0.2mm 1.0 0.1
10mm
11 12
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E No379 131y

6 min 0.2 1.0 0.1lmm
0.2mm
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0.6mm
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2.6.3

° 1st
2.13 90 4 M\\
TH CUT
ST E379 2ND E1065 Ziw
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11 12 117 12
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2.2

9
11 0.004 0.008 0.016 0.005
1 0.006 0.007 0.007 0.005
12 0.587 0.290 0.332 0.273
12 0.056 0.193 0.345 0.301
11 12
e -:"' lat
il L iy ¥
111211 —
2.15 1
9
3
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2.6.4

G04
2
0.2
3
E No379 131 6 min
G04X 5. 1. 1 G04X0.8 0.2 0.2
4
4 2.3
2.3
0.2 0.4 0.6 0.8
11 0.031 0.032 0.031 0.023
12 0.110 0.111 0.081 0.081
1 2 3. 4 5.
11 0.032 0.037 0.036 0.035 0.038
12 0.100 0.125 0.134 0.132 0.132
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= 008
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2.7.3

2
' 2.24 >
L1 12 L2
L2
90°
6mm/min 11 0.032mm
12 0.130mm L1=0.032mm 2.24
L2=0.130mm
4
E No379 131y m 6mm min
L1=0.032mm L2=0.130mm
5
2.4
1 2 3 4
11 - 0.006 - 0.005 - 0.004 - 0.007
12 0.062 0.070 0.061 0.031
mm
11 12

225 R

2.25

L10.022mm L2=0.056mm
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2.5

1 2
L1 0.016 0.000 0.021 0.017 0.014
L2 0.025 0.000 0.036 0.037 0.025

mm
6 min
2.27
11 12
2.26 2
0.000

2.26

2.27
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2.7.4 60°  140°

90°
90° 60°  140°
2
60°  140° 1112
L1 L2
90°
90° NC 60°
140° 2.28
2.28 L1
L2 NC
NC MS20
a0° B0* 140°
2.28 NC
MS20
2.29
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2.29  MS20 NC

2.29

L1 L2 L1

L1
L2
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60° 140° 8
2.6 2.30 2.6
2.6
60° 70° 80° 90° 100° 110° 120° 130° 140°
11 0.031 | 0.031 | 0.031 0.031 | 0.028 | 0.023 | 0.020 | 0.019 | 0.018
12 0.174 | 0.160 | 0.144 | 0.130 | 0.098 | 0.089 | 0.057 | 0.043 | 0.032
mm
0.200
0.150
'€
e
= 0.100
0.050
0.000
S 8 & &§ &§ &§ &« &
o A ) ) \9 ,\"\, r{l/ \"b ,»b&
[ 1] o1 @2
2.30
11 12
11
L1 12 L2 NC 4
4 11 12 0.010mm L1
L2
3 E No379 131p
6 min
4
L1
L2 2.7 2.31
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2.7

60° 70° 80° 90° 100° 110° 120° 130° 140°
L1 0.050 | 0.046 | 0.041 | 0.036 | 0.034 | 0.032 | 0.031 | 0.027 | 0.020
L2 0.091 | 0.086 | 0.087 | 0.097 | 0.079 | 0.068 | 0.061 | 0.036 | 0.025
mm

I

60° 70° 90° 100° 110° 120° 130°_ 140°
[
2.31
L1 L2
L1
L1 2.32
L2
2.32
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2.7.5

60°  140°
10
2
60°  140°
3
E No379 131y m 6mm min
4
2.8 60°  140° 10
2.33
2.8 10
60° 70° 80° 90° 100°
11 0.0058 0.0031 0.0059 0.0036 0.0056
12 0.0057 0.0022 0.0056 0.0071 0.0084
110° 120° 130° 140°
11 0.0042 0.0008 0.002 0.0061 [mm]
12 0.0082 0.0047 0.0066 0.0057
0.01
. 0008
E
= 0.006
0.004
0.002
0
60° 70° 80° 90° 100° 110° 120° 130° 140°
olr w2
2.33 10
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100
10 11 12 10y m
12 20p m
1
2.34
90°
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= i
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= 008
0.06
0.04
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0 =
oL @2
2.34
2.34  90°
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2.7.6

2.35
2 2.35
Smm 2 90°
P
2.36
FE-
2.36
3
E No379 131y m 6mm min
4
4
2.9
2.9
11 0.032 0.039 0.026 0.008 0.010 0.008
12 0.132 0.227 0.132 0.011 0.014 0.010
[mm]

31



2.8

12

32



3.1

3.2

3.1

NC

30

T4 FIRIL

3.2

33



3.3

Z
3.4
DIAX SX10 2 2.8
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OB20P@ 0.2mm
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3.1

[5 [10 ] [15 1]
1 20 1 6 7 12 13 20
200 201 202 203
) 12 12 12 12
IP 6(-1) 7 5(-2) 5(-2)
OFF 1 1 1 1
SA 3 3 3 2(-1)
sB 12(+2) 12(+2) 13(+3) 13(+3)
Ws 12 12 12 12
Wt 7(-1) 7(-1) 6(-2) 5(-3)
PT 14 14 14 14
LQ 2 2 2 2
LR 9 9 9 9
VG 49(+7) 48(+5) 48(+5) 53(+10)
sC 1 1 1 1
FS 1 1 1 1
AE 21 21 21 21
SE 1 1 1 1
FA 6 6 5 3.6
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3.5.2
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a 5 b 55omm

74 73
73 74
3.6
3.6.1
3.6
1
Y tan 0 tan X Y

Xk B i
EVA T
Yidis B i

e fir g (2)
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BHE
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3.6
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3.6.2
3.7

0 tan !

{a)

B = J—=HE

{(b){a)

Sl 150 i K 8 1

o i iz 8 ik ah 2
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3.7

3.7.1
1
2
5 1 20
3.6 X Y
Y 3mm X 0 tan! X
3mm
3
A 5.001
73=18.457Tmm  Z3=7.937Tmm Z4=7.939mm
E200 133y m
4
32 1 5 10 15 20 3.3
3.8
3.2
NC 1 Y 3mm
X (mm) | 0.052 0.053 0.052 0.052
0.993027 1.01212 0.993027 0.993027
-0.00697 0.01212 -0.00697 -0.00697
0.997801 -0.0022
NC 2 Y 3mm
X (mm) | 0.104 0.106 0.105 0.105
1.985459 2.023609 2.004534 2.004534
-0.01454 0.023609 0.004534 0.004534
2.004534 0.004534

40




NC 3 3mm
X (mm) | 0.158 0.158 0.157 0.158
3.014792 3.014792 2.995746 3.014792
0.014792 0.014792 -0.00425 0.014792
3.010031 0.010031
NC 4 3mm
X (mm) | 0.21 0.213 0.21 0.209
4.004173 4.061185 4.004173 3.985167
0.004173 0.061185 0.004173 -0.01483
4.013675 0.013675
NC 5 3mm
X (mm) | 0.264 0.265 0.262 0.264
5.029074 5.048025 4.991168 5.029074
0.029074 0.048025 -0.00883 0.029074
5.024335 0.024335
NC 10 3mm
X (mm) | 0.532 0.534 0.532 0.534
10.05591 10.09294 10.05591 10.09294
0.055911 0.09294 0.055911 0.09294
10.07443 0.074426
NC 15 3mm
X (mm) | 0.81 0.811 0.809 0.81
15.10958 15.12737 15.09177 15.10958
0.109575 0.127375 0.091773 0.109575
15.10957 0.109574
NC 20 3mm
X (mm) | 1.098 1.097 1.1 1.1
20.10263 20.08578 20.1363 20.1363
0.102626 0.085782 0.136303 0.136303
20.11525 0.115254
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3.3

NC NC
1 -0.002199411 5 0.024334936
2 0.004533921 10 0.074425648
3 0.010030801 15 0.109574376
4 0.013674566 20 0.115253543
0.12 Pra—
0.1
— 0.08
o /
=2 0.06 /
0.04 L
002 o=y
0 [o ‘
002 0 5 10 15 20
NC [ 1]
3.8
5
1 20
1 -0.002
20
0.115
1 20
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3.7.2

2
20
VF
3
Z 5.000
73=18.457mm 73=7.937Tmm 7Z4=7.939mm 75=10.384mm
E200 5 8
4
3.4 5
NC 20 3mm
X mm 1.113 1.112 1.113 1.113
20.35485 20.33806 20.35485 20.35485
0.354854 0.338064 0.354854 0.354854
20.35066 0.350656
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3.5 6
NC 20 Y 3mm
X mm 1.106 1.105 1.107 1.107
20.23725 20.22043 20.25406 20.25406
0.237249 0.220434 0.254061 0.254061
20.24145 0.241451
3.6 7
NC 20 Y 3mm
X mm 1.098 1.098 1.1 1.1
20.10263 20.10263 20.1363 20.1363
0.102626 0.102626 0.136303 0.136303
20.11946 0.119465
3.7 8
NC 20 Y 3mm
X mm 1.098 1.097 1.098 1.097
20.10263 20.08578 20.10263 20.08578
0.102626 0.085782 0.102626 0.085782
20.0942 0.094204
3.9
04
0.351
0.3
0.241
02 r
0.119 0.094
01 3
0
5 6 7 8
3.9 20°

44




VF
3.10 3.11 3.10
3 3.11

||II" Tl

3.10 3

WT=5 WT=6 WT=7 WT=8

LT
3.11 2
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3.8

3.8

V V V mm/min mm/min mm/min
WT=5 47.47 57.87 52.87 1.93 4.86 2.29
WT=6 47.03 60.36 53.01 1.67 3.11 2.28
WT=7 11.86 70.91 53.68 0.10 4.89 2.23
WT=8 0.58 75.31 55.26 0.01 5.46 1.82

20
3.12

3.15

oo




3.9

3.11
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3.7.3

NC
NC
2
NC 12 14 16 18 20
NC
Y 5mm 10
NC
NC
2
3
4.998
7.3=18.556mm 7Z3=7911mm 7Z4=7.934mm
12 E202 14 16 18 20 E203
133y m
3.16
Y 5mm
10
T/
NI
3.16
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3.9 12

12 2
mm 5.631 5.567 5.517
12.000 11.868 11.764
mm 1.0748 1.0603 1.0622
12.1317 11.9728 11.9936
0.1317 -0.0272 -0.0064
0.1317 0.1045 0.2298
0.1317 -0.0272 -0.0064

3.10 14

14 2
mm 6.605 6.522 6.423
14.000 13.832 13.630
mm 1.2622 1.2498 1.2463
14.1677 14.0341 13.9967
0.1677 0.0341 -0.0033
0.1677 0.2018 0.3663
0.1677 0.0341 -0.0033

3.11 16

16 2
mm 7.569 7.456 7.319
16.000 15.720 15.446
mm 1.4602 1.4332 1.4335
16.2799 15.9944 15.9976
0.2799 -0.0056 -0.0024
0.2799 0.2743 0.5518
0.2799 -0.0056 -0.0024
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3.12 18

18 2
mm 8.607 8.463 8.370
18.000 17.717 17.534
mm 1.6519 1.615 1.6204
18.2825 17.9005 17.9565
0.2825 -0.0995 -0.0435
0.2825 0.1830 0.4220
0.2825 -0.0995 -0.0435
3.13 20
20 2
mm 9.642 9.470 9.483
20.000 19.672 19.368
mm 1.8523 1.8175 1.8212
20.3277 19.9762 20.0136
0.3277 -0.0238 0.0136
0.3277 0.3039 0.6452
0.3277 -0.0238 0.0136
3.13
3.17
3.14
1 2
12 0.1317 -0.0272 -0.0064
14 0.1677 0.0341 -0.0033
16 0.2799 -0.0056 -0.0024
18 0.2825 -0.0995 -0.0435
20 0.3277 -0.0238 0.0136
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0.40

0.30

~ 020

0.10

0.00

-0.10

-0.20

3.17

3.17

NC
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3.7.4

2
3.18 a b
c d U e
a Ab Ac Ad Ae g
Ag 2 14
L
;__.rl'-
e e A
F =7 NV
1
fri_:
2
3.18
3
0 0.5
a=bmm b=55mm
2 U 3.041mm 87.091mm
14 U 21.454mm 86.049mm

Ag
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f b(c+ Ac) —a(d + Ad)
~ (d+Ad)-(c+Ac)

_e(a+f)
~ (c+Ac)

ai b(c+ Ac)—a(d + Ad)
(d+Ad)—(c+Ac)

(c+ Ac)

_ da{(d+Ad) - (c+Ac)} +b(c+Ac) — a(d + Ad)]
B (c+ Ac){(d + Ad) — (c+ Ac)}

__ eb-a)

~(d-c)+A(d-c)

_eb-a) {1+ A(d - c)}l

g:

d-c d-c

{1+ A(d —c)}_l _,_Ad-9) +{A(d —c)}z _{A(d —c)}g . (_1)n1{A(d —c)}”‘1
d-c d-c d-c d-c

A(d -c)
d-c

Lol

g b2 {1_ A(d —c)}

d-c d-c
A
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Ag= e(b—a)(Ad — Ac)

(d-0)?

2 14 g

Ag= eb-a)(ad-Ac)

(d-c)?

2 14

2
a=5 b=55 c=0464 d=2210 e=3.041
ag = H0=ANAd—AS) 3.04185-5) A(d —c)=49.880A(d c)...

(d-c) (2.210- 0.464)
c,d Ac Ad 0 0.5 g A g

315 Ac Ad 0 05 g A g

(%) 0 0.1 0.2 0.3 0.4 0.5
A (mm)[ 0.00000{ 0.00046] 0.00093] 0.00139( 0.00186 0.00232
A d (mm)[ 0.00000] 0.00221] 0.00442] 0.00663 0.00884] 0.01105
A g (mm)[ 0.00000] 0.08709] 0.17418 0.26127| 0.34836] 0.43545
A g/g (%)| 0.00000f 0.10000] 0.20000{ 0.30000[ 0.40000, 0.50000

( )| 1.99996]  1.99796] 1.99597 1.99398 1.99199[ 1.99001

( )| 0.000000 0.00200 0.00399] 0.00598 0.00796] 0.00994

/ 0.00000]  0.09992[ 0.19984] 0.29976] 0.39968  0.49959
14
a=5 b=55 ¢=3.218 d=15.694 e=21.454

g- e(b—a)(Ad - Ac) _ 21.454(55 - 5)
(15.694 - 3.218)°

(d-0)°

54

A(d -c)=6.903A(d —c)...



c,d Ac Ad 0 0.5 g g
316 Ac Ad 0 05 g g
(%) 0 0.1 0.2 0.3 0.4 0.5
A (mm)| 0.00000[ 0.00323[ 0.00646] 0.00968 0.01291] 0.01614
A d (mm)| 0.000000 0.01569] 0.03139] 0.04708 0.06278 0.07847
A g (mm)| 0.000000 0.08605| 0.17210[ 0.25815 0.34420 0.43024
A glg (%) 0.00000] 0.10000 0.20000] 0.30000[ 0.40000, 0.50000
()| 13.99957 13.98613( 13.97272 13.95933| 13.94597| 13.93264
()| 0.00000] 0.01344[ 0.02685 0.04023] 0.05359] 0.06693
/ 0.00000] 0.09607| 0.19214] 0.28822[ 0.38430| 0.48038
2 14 -
0.500
= 0.400
0.300
0.200
0.100
0.000
0.0 0.1 0.2 0.3 04 05
(%
——2 - —=-14 -
3.19 2 14 c d
319 2 14 c d
0 0.5
Ag
2 A g=49.880A d- ¢
14 A g=6.903A d- ¢
d ¢ d- ¢ 1
2 49.880p m 14 6.903u m
Ag 42,9774 m
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a,b

f bc-ad

d-c
g:e(a:f)...
a Aa A
a—a+Aa b—b+Ab

ki

f (b+ Ab)c-(a+ Aa)d
- d-c
g:e{(a+Aa)+f}

c

{(aJrAa)+{(b+Ab)c—(a+Aa)dH

d-c
9= C
_ée{(a+Aa)(d-c)+(b+Ab)c—(a+Aa)d}
- c(d—c)
_¢{(b+Ab) - (a+Aa)}
- d-c
_e(b-a)  e(Ab-Aa)
d-c d-c
A
Ag:e(Ab—Aa)
d-c
2 14
Ag = e(Ab-Aa)
d-c
2 14
2
a=5 b=55 c=0464 d=2210
Ag:eA(b—a)_ 3.041

56

A g

e=3.041

= Alb—a)=1.742A(b-a)...
d-c  2210-0.464



a,b Aa Ab 0 0.5 g A g
317 Aa Ab 0 0.5 g g
(%) 0 0.1 0.2 0.3 0.4 0.5
A a (mm)| 0.00000{ 0.00500{ 0.01000 0.01500, 0.02000{ 0.02500
A b (mm)| 0.00000{ 0.05500{ 0.11000| 0.16500, 0.22000] 0.27500
A g (mm)| 0.00000[ 0.08709] 0.17418 0.26127 0.34836| 0.43545
A gl/g (%)  0.00000[ 0.10000] 0.20000{ 0.30000, 0.40000( 0.50000
()] 1.99996] 1.99796] 1.99597] 1.99398] 1.99199] 1.99001
()] 0.00000[ 0.00200, 0.00399] 0.00598 0.00796] 0.00994
/ 0.00000] 0.09992| 0.19984[ 0.29976| 0.39968  0.49959
14
a=5 b=55 c=23.228 d=15694 e=21.454
ag=280b-a) 2144\ 1 70m(b-a)..
d-c  15.694-3.228
a,b Aa Ab 0 0.01 g g
3.18 Aa Ab 0 0.5 g g
(%) 0 0.1 0.2 0.3 0.4 0.5
A a (mm){ 0.00000[ 0.00500, 0.01000] 0.01500, 0.02000[ 0.02500
A b (mm){ 0.00000] 0.05500, 0.11000] 0.16500, 0.22000( 0.27500
A g (mm)[ 0.00000] 0.08605 0.17210] 0.25815 0.34420| 0.43024
A gl/g (%)|  0.00000] 0.10000 0.20000{ 0.30000] 0.40000, 0.50000
()] 13.99957| 13.98613( 13.97272| 13.95933 13.94597| 13.93264
()] 0.000000 0.01344] 0.02685 0.04023] 0.05359] 0.06693
/ 0.00000( 0.09607| 0.19214] 0.28822] 0.38430| 0.48038
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< 0.30

=3

0.50

0.40

0.20

0.10

0.00

3.20 2 14

3.20
0 0.5

14

Ag
1.74 m
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d-c
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c(d-c)
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d-c
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g

d-c d-c
A
Ag = Au(b—a)
d-c
2 14
Ag = 2ub=a)
d-c
2 14
2
a=5 b=55 c=0.464
Ag:Au(b—a): 55-5
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(mm) 0 0.001 0.002 0.003 0.004 0.005
A (mm)[ 0.00000 0.02864] 0.05727| 0.08591| 0.11455 0.14318
A g (%) 0.00000[ 0.03288 0.06576] 0.09864] 0.13153] 0.16441
1.99996] 1.99996] 1.99996( 1.99996( 1.99996] 1.99996
()] 0.00000] 0.00000[ 0.00000{ 0.00000 0.00000, 0.00000
/ 0.00000 0.00000[ 0.00000( 0.00000 0.00000] 0.00000
14
a=5 b=55 c=3.228 d =15.694 e=21.454
ag=2ub=3) =5 4140
d-c 15.694 — 3.228
U (Auw 0 0.006mm
A g
3.20 A 0 0.005 g g
(mm) 0 0.001 0.002 0.003 0.004 0.005
A (mm)| 0.00000{ 0.00401] 0.00802| 0.01203[ 0.01604] 0.02005
A /g (%)| 0.00000] 0.00466( 0.00932] 0.01398 0.01864] 0.02331
13.99957 13.99957| 13.99957| 13.99957 13.99957| 13.99957
( )] 0.00000{ 0.00000] 0.00000{ 0.00000 0.00000, 0.00000
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d-c d-c (d-c)
_eb-a) . Au(b—a) . (e+Au)Alb—c) (e+Au)b—a)+A(b-a)jA(d-c)
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Ag= Au(b—a) s (e+Au)Alb-c) (e+Au)b-a)+A(b-a)jA(d-c)
d-c d-c (d-c)
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2
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A
97 a ¢ d-c (d-c)?
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